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QUESTION 1

In analyzing a logical chain of activities in a critical path method (CPM) schedule, what do differing total float values
within that chain typically indicate? 

A. The schedule has too much detail to reflect an accurate critical path. 

B. Different calendars are assigned to certain activities in the logical chain. 

C. The schedule is projecting an "early completion". 

D. Certain activities in the critical path have no successors. 

Correct Answer: D 

 

QUESTION 2

How much Total Float does drafting the product manual have? 

A. 15 workdays. 

B. 0 workdays. 

C. 10 workdays. 

D. 5 workdays. 
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Correct Answer: C 

 

QUESTION 3

At the end of month one, did the delay to the parking structure foundation delay the project? 

A. NO. 

B. Yes, by 4 calendar days. 

C. Yes, by 14 calendar days. 

D. Yes, by 9 calendar days. 

Correct Answer: B 

 

QUESTION 4

Which statement is true? 

A. Where compensability cannot be established, excusability is assumed. 

B. Where compensability can be established, excusabltity cannot be assumed. 

C. Where compensability cannot be established, excusability is a given. 

D. Where compensability can be established, excusability is assumed. 

Correct Answer: A 

 

QUESTION 5

If no time extensions are granted and all actual delays are as described above, what will the total float calculation be at
the end of the project? 

A. 0 calendar days. 

B. -14 calendar days. 

C. -20 calendar days. 

D. 10 calendar days. 

Correct Answer: B 
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